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Created by Mr. Lischwe

Warmup 4/(# @days in 2 % weeks)

» Draw a picture of each of the following. Mark
Your Diagram!

Supplies Needed:

. An Angle Bisector  'Whiteboard
A Midpoint

5. Parallel Lines Cut by a Transversal

4. A Regular Hexagon

©

© Get out your homework!

Homework Answers

What triangle congruence
shortcuts work?

O

Rotational Symmetry

O

« A clockwise rotation of how many degrees would
map vertex A onto vertex E?
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State 1f the two triangles are congruent. If they
are, state how you know.
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State 1f the two triangles are congruent. If they
are, state how you know.
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State 1t the two triangles are congruent. It they State 1t the two triangles are congruent. It they
are, state how you know. are, state how you know.
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J N is the midpoint of MP. QP 2 RM
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State 1f the two triangles are congruent. It they State what additional information you need to prove the
are, state how you know. triangles are congruent for the given shortcut
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State what additional information you need to prove the
triangles are congruent for the given shortcut

State what additional information you need to prove the
triangles are congruent for the given shortcut

SSS

Prove: AABD=ACDB

State what additional information you need to prove the State what additional information you need to prove the
triangles are congruent for the given shortcut triangles are congruent for the given shortcut
SAS ASA
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Given: Z1=/2 Gi DE~DF
Hy iven: DE = DF
23=/4

EH = HF
Prove: ADHE= ADHF
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Given: AN bisects ZCNI Given: FA=./C
ZC= . T
Prove: ACAN = AIAN AB=BC
Prove: ACBE= AABD
o I c
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Given: NO || MP, ZN = /P Given: J is the midpoint of KM and NL.

Prove: Z/NMO = /POM Prove: /LKJ= /NMJ
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Rectangle ABCD is shown.
Figure RSTU is a parallelogram.
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What is the length of US, in units? A b

24 cm

Find all remaining segment lengths
32|




